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Recall that the formula for calculating kinetic energy is: KE=1/2mv2. Manipulate this formula to answer the
following problems. Be sure to show the four step set-up.

. A cheetah can run at a speed of 31 m/s. Ifa cheetah wzth a mass of 47 kg runs at this speed, what would
its kinetic energy be? Selns KE = 7_ m\(
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2. A 725 kg automnobile has a kinetic energy ) as 1t ravels along the highway. What is the car’s
sioroiocity? Sel  KE<d mi VE= 203020
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3. A baseball is pitched with a speed of 35 m/s. If the baseball has a mass of 0.146 kg, what is its kinetic
? Schy = & _
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4. A bullet train can reach speed of 76.4 m/s. What is the mass of a tram that reaches this speed if its total
Lioen kinetic energy is 2,780,000,000? Soln:  KE: T N Z { 2,180, o 3
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& 5. A polar bear with a mass of 500 kg has 60,500 J of kinetic enzry How t?st is it movmg? "
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6. A pigeon flies with a velocity of 5.1 m/s. If it has 46.8 J of kinetic enerov. what is its mass?
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7. The kinetic energy of a golf ball is measu\{"ed to be 143.3 J. If the golf ball has a mass of about 0.047 kg,
sen what is its speed? Sa\n: KE = _L. VZ- \,?- 20143 31
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8. A ping-pong ball has a mass of about 2.45 g. Suppose the ball is hit across the table with a speed of 4.0
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